All results for Iridium isotopes

Iridium 163 (Z=77, N=86) Iridium 164 (Z=77, N=87)
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Iridium 165 (Z=77, N=88) Iridium 166 (Z=77, N=89)
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Iridium 167 (Z=77, N=90) Iridium 168 (Z=77, N=91)
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All results for Iridium isotopes

Iridium 169 (Z=77, N=92) Iridium 170 (Z=77, N=93)
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Iridium 171 (Z=77, N=94) Iridium 172 (Z=77, N=95)
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Iridium 173 (Z=77, N=96) Iridium 174 (Z=77, N=97)
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SR® (fm?)

All results for Iridium isotopes

Iridium 175 (Z=77, N=98) Iridium 176 (Z=77, N=99)
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Iridium 177 (Z=77, N=100) Iridium 178 (Z=77, N=101)
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Iridium 179 (Z=77, N=102) Iridium 180 (Z=77, N=103)
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All results for Iridium isotopes

Iridium 181 (Z=77, N=104) Iridium 182 (Z=77, N=105)
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Iridium 183 (Z=77, N=106) Iridium 184 (Z=77, N=107)
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Iridium 185 (Z=77, N=108) Iridium 186 (Z=77, N=109)
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All results for Iridium isotopes

Iridium 187 (Z=77, N=110) Iridium 188 (Z=77, N=111)
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Iridium 189 (Z=77, N=112) Iridium 190 (Z=77, N=113)
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Iridium 191 (Z=77, N=114) Iridium 192 (Z=77, N=115)
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All results for Iridium isotopes

Iridium 193 (Z=77, N=116) Iridium 194 (Z=77, N=117)
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Iridium 195 (Z=77, N=118) Iridium 196 (Z=77, N=119)
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Iridium 197 (Z=77, N=120) Iridium 198 (Z=77, N=121)
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Iridium 199 (Z=77, N=122)

All results for Iridium isotopes

Iridium 200 (Z=77, N=123)
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All results for Iridium isotopes

Iridium 205 (Z=77, N=128)
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Iridium 207 (Z=77, N=130)
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Iridium 209 (Z=77, N=132)
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Iridium 206 (Z=77, N=129)
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Iridium 208 (Z=77, N=131)
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Iridium 210 (Z=77, N=133)
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All results for Iridium isotopes

Iridium 211 (Z=77, N=134)
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Iridium 213 (Z=77, N=136)
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Iridium 215 (Z=77, N=138)
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Iridium 214 (Z=77, N=137)
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Iridium 216 (Z=77, N=139)
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All results for Iridium isotopes

Iridium 217 (Z=77, N=140)
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All results for Iridium isotopes
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All results for Iridium isotopes
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All results for Iridium isotopes

Iridium 235 (Z=77, N=158) Iridium 236 (Z=77, N=159)
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Iridium 237 (Z=77, N=160) Iridium 238 (Z=77, N=161)
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Iridium 239 (Z=77, N=162) Iridium 240 (Z=77, N=163)
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All results for Iridium isotopes

Iridium 241 (Z=77, N=164) Iridium 242 (Z=77, N=165)
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Iridium 243 (Z=77, N=166) Iridium 244 (Z=77, N=167)
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Iridium 245 (Z=77, N=168) Iridium 246 (Z=77, N=169)
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All results for Iridium isotopes

Iridium 247 (Z=77, N=170) Iridium 248 (Z=77, N=171)
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Iridium 249 (Z=77, N=172) Iridium 250 (Z=77, N=173)

T & T T T @ T T T @ T
L i o Protons Protons L 1 ~ Protons
s e Newons] ol 1% Neutrons T g ~ o Neutrons
/ b S /1 E / T M E
N S g /1 Soo N ] Soo
< S Y, H F k| < = , 3 k|
proors i ©ud ] ) Protons e uf, 1 )
., Ratos > J . Noms g i\ Fol SN
P ) PA ] ‘ i
hinelnnfinnnt PRN/ARY Bl oo 1 (fm)
T 8 Proons prerrprer T 3 Protons preere e Protons__ Neutrons
S0 Newons|  go ] s Nedrons | TR
| oo ~ ¢ Proions ~ 15
q 2 Neutrons < S — g = Neutrons “ S 200 1 -
B 3 p ; ]
3 L 1 E g b i H g
g : e \ 2, g e 2
'3 [P J uw x 2 100C 1w
1 4 = 1 =
A 2 ~
I I I I 1 I I I I I I Il b & 0 1 0 1
A T e T T T
S R o S - B B
[} ° 4 A
& s S s Sk
w o | T 1w ]
2| < =)
w w? 9
. o 1 a
N Q N
f [N NP NN
T T T T Il Il Il Il T T T T Il Il Il Il
05 00 05 10 05 00 05 10 05 00 05 10 05 00 05 10
8 B 8
HFB-DLS Bruyéres-le-Chatel HFB-DLS Bruyéres-le-Chatel
Iridium 251 (Z=77, N=174) Iridium 252 (Z=77, N=175)
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All results for Iridium isotopes

Iridium 253 (Z=77, N=176) Iridium 254 (Z=77, N=177)
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Iridium 255 (Z=77, N=178) Iridium 256 (Z=77, N=179)
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All results for Iridium isotopes

Iridium 258 (Z=77, N=181) Iridium 259 (Z=77, N=182)
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Iridium 260 (Z=77, N=183) Iridium 261 (Z=77, N=184)
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